ctionplaysystep,
g oM

GAGA PIT

[ SAFETY )

e Check to ensure that plans will meet local codes and guidelines

e Space equipment to ensure proper traffic flow and safe usage

( CONFIGURATIONS )

APS - GaGa Pit 15 APS - GaGa Pit 20 APS - GaGa Pit 26

D: 20.8 ft. D: 25.9 ft.

W: 20.4 ft. W: 25.6 ft.

Area: 311.3 sq.ft. Area: 492.0 sq.ft.

D: 21.2 ft. D: 26.2 ft.

W: 19.7 ft. W: 25.0 ft.

Area: 298.6 sq.ft.

Area: 479.4 sq.ft.

Action Play Systems, LLC pg. 1 www.actionplaysystems.com
18535 Old Statesville Rd, Suite C Email: info@actionplaysystems.com
Cornelius, NC 28031 855-752-9277 (PLAYAPS)

4/9/2021



tionplaysyste
w,ac ms'co
m

GAGA PIT

INSTALL GUIDE

[ CONFIGURATIONS, Cont. ]

Gate Kit

e Gate Kit can be added to any GaGa Pit Kit

( PACKAGE CONTENTS ]

GaGa Pit Components

@ Hex Bolt M14x25

@ 100-Border 12”

GaGa Gate Components

@ Wheel Holder WheeI 8”
=

@ Spring @ Locking Eye Bolt @Stud Circular
§ >

Axle Bushing @ Axle Bolt M12x90 Hex Bolt M14x50 @ Nylock Nut M12 @ Washer

) =
i) W —
T
Action Play Systems, LLC pg. 2 www.actionplaysystems.com
18535 Old Statesville Rd, Suite C Email: info@actionplaysystems.com

Cornelius, NC 28031 855-752-9277 (PLAYAPS)

4/9/2021



wW

o acuon|o|ay~°>yste,,,s R

Om

GAGA PIT

INSTALL GUIDE

: ITEMS AND QUANTITIES
Item Description GaGa Pit 15 GaGa Pit 20 GaGa Pit 26 GaGa Gate
1 100-Border 12” 24 32 40 -
2 GaGa Base 12 16 20 -
3 Tube, 23 %4” 12 16 20 -
4 Hex Bolt M14x25 12 16 20 -
5 Stud Circular Tube 12 16 20 1
6 Washer 12 16 20 7
7 Wheel Holder - - - 1
8 Wheel, 8” - - - 1
9 Filler End - - - 3
10 Tube, 22 %" - - - 1
11 Latch - - - 1
12 Spring - - - 1
13 Locking Eye Bolt - - - 1
14 Axle Bushing - - - 1
15 Axle Bolt M12x90 - - - 1
16 Hex Bolt M14x50 - - - 1
17 Nylock Nut M12 - - - 1
Action Play Systems, LLC pg. 3 www.actionplaysystems.com

18535 Old Statesville Rd, Suite C

Cornelius, NC 28031

Email: info@actionplaysystems.com

855-752-9277 (PLAYAPS)

4/9/2021



ctionplaysystep,
g oM

GAGA PIT

INSTALL GUIDE

[ GAGA PIT PANEL ASSEMBLY ]

Assemble border in flat position on floor

Orient APS logo
upright, as shown

Note: Tighten stanchion
fasteners tightly before

standing wall upright.

www.actionplaysystems.com
Email: info@actionplaysystems.com

pg. 4

Action Play Systems, LLC

18535 Old Statesville Rd, Suite C

Cornelius, NC 28031

855-752-9277 (PLAYAPS)

4/9/2021



w.actionPlaysysten R

ww om

GAGA PIT

[ GAGA PIT PANEL ASSEMBLY, cont. ]

Bend wall around into position.

Do not assemble the final two timber
segments and follow instructions on

next page for assembling the ADA
Gate Kit.

Action Play Systems, LLC pg. 5
18535 Old Statesville Rd, Suite C
Cornelius, NC 28031

www.actionplaysystems.com
Email: info@actionplaysystems.com
855-752-9277 (PLAYAPS)

4/9/2021



ctionplaysystep,
g oM

GAGA PIT

[ ADA GATE ASSEMBLY ]

e Gate End Assembly

e Wheel Assembly

Action Play Systems, LLC pg. 6 www.actionplaysystems.com
18535 Old Statesville Rd, Suite C Email: info@actionplaysystems.com
Cornelius, NC 28031 855-752-9277 (PLAYAPS)

4/9/2021



ctionplaysyste

[ ADA GATE ASSEMBLY, cont. ]

GAGA PIT

Note: Bolt (16) has thread
locking adhesive applied. Do
not substitute any other bolt.

e Border End Assembly

b

%

Action Play Systems, LLC pg. 7 www.actionplaysystems.com
18535 Old Statesville Rd, Suite C Email: info@actionplaysystems.com
Cornelius, NC 28031 855-752-9277 (PLAYAPS)

4/9/2021



